ChemE530
Vector Notation Problems for Recitation 09/27/19
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T and v are definedas T = |3 4 5|and ¥ = [2]
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(i) Determine T - ¥

(i)  IfT is a stress tensor, find the force/area exerted on a fluid oriented such that its normal,

7, is collinear with ¥ .
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1-4 Flux Normal to a Surface (Deen Text, page 23)

Consider a point P = (x, v, z) = (2a/3, b/3, 2c/3), which is on the surface of a spheroid defined

y O+ s (=

Suppose that there is a flux, f, that has the components

f=Utnf) = (535

Compute f, = n.f at point P, where n is the outward unit normal.
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Eq. (A8-2)
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